Effective df: 15.0; R-squared: 0.74
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Effective df: 12.2; R-squared: 0.74
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Effective df: 14.0; R—squared: 0.74
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Effective df: 15.0; R-squared: 0.74
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Effective df: 8.0; R—squared: 0.73
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Effective df: 15.0; R-squared: 0.74
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Effective df: 8.0; R—squared: 0.73
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Effective df: 14.0; R—squared: 0.74

,
79e|q

seyo

sIp

= W

yels|

onend

Xel

B

snpul

Xe1: Wi

_‘ abe
o

pel

4)

0T



Effective df: 7.5; R—squared: 0.73
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Effective df: 9.0; R—squared: 1.00
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Effective df: 5.0; R—squared: 0.93

V6

V12 I—|

V14—
V4=
V5=

V10

\Ves |
V13=

V15=




